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L FICARIITE CIER LT =T = AD T 0 T L) — AR T,
package MiniChess;
public class MiniChess {

public static void main(String[] args){
/*



WA &

false
50 51 52 53 54
Ro Kn Bi Ki Qe
40 41 42 43 44
PO P1 P2 P3 P4

10 11 12 13 14
P4 P3 P2 P1 PO
00 01 02 03 04

Qe Ki Bi Kn Ro

true
*/

/*

50 51 52 53 54

40 41 42 43 44
30 31 32 33 34
20 21 22 23 24
10 11 12 13 14
00 01 02 03 04

*/

Phase phase = new Phase(new King(@1,true),new Qeen(@0,true),new
Bishop (02, true),new Knight(03,true),new Rook(04,true),new Pawn(14,true),new
Pawn(13,true),new Pawn(12,true),new Pawn(1ll,true),new Pawn(10,true),

new King(53,false),new Qeen(54,false),new
Bishop(52,false),new Knight(51,false),new Rook(50,false),new Pawn(40,false),new
Pawn(41,false),new Pawn(42,false),new Pawn(43,false),new Pawn(44,false),true);

int win=0;

while((win=phase.checkWinLose())==0){
phase.showPhase();
phase.move();

}

phase.showPhase();

if(win==-1){
System.out.println("#BTFOBEH");

}else{
System.out.println("ETFOEH");

}

package MiniChess;
import java.util.*;

public class Computer {

Phase phase;

boolean side;

ArrayList<Piece> list;

final int[]
map={0,1,2,3,4,10,11,12,13,14,20,21,22,23,24,30,31,32,33,34,40,41,42,43,44,50,51,52,53,



54};

public Computer (Phase phase,boolean side){
this.phase = phase;
this.list = phase.getlList();
this.side = side;

}

private int[][] canMove(){
int[][] canMove;
canMove=new int[list.size()][30];
/ 1911k
for(int[] can:canMove){
Arrays.fill(can, -1);
}

Piece piece=null;
int ii;
for(int index=0;index<list.size();index++){
ii=o;
piece = list.get(index);
if(piece.getSide()==side){
for(int next:map){
if(piece.canMove(next, 1list)){

if(piece.getName().equals("Pa")&&side&&next>=50){
//Kn
canMove[index][ii]=next*100+1;
ii++;
//Bi
canMove[index][ii]=next*100+2;
ii++;
//Qe
canMove[index][ii]=next*100+3;
ii++;
//Ro
canMove[index][ii]=next*100+4;
ii++;
}else

if(piece.getName().equals("Pa")&&!side&&next<=4){
//Kn
canMove[index][ii]=next*100+1;
ii++;
//Bi
canMove[index][ii]=next*100+2;
ii++;
//Qe
canMove[index][ii]=next*100+3;
ii++;
//Ro
canMove[index][ii]=next*100+4;
ii++;

}else{

canMove[index][ii]=next;
ii++;

}
}

return canMove;



}

/**
* WOBEZBIMTH 2, TOBEOHREFEL, KT
* RO M@param nextPhase
* p#f@return point
* Qe9 Ro5 Bi3 Kn3 Pal
*/
private int checkPoint(Phase nextPhase){
int point=0;
for(Piece piece:nextPhase.getlList()){
// B
if(piece.getSide()==side){
if(piece.getPosition()!=-1){//#N
if(piece.getName().equals("Qe")){
point +=9;
}else if(piece.getName().equals("Ro")){
point += 5;
}else if(piece.getName().equals("Bi")){
point += 3;
}else if(piece.getName().equals("Kn")){
point += 3;
}else if(piece.getName().equals("Pa")){
point += 1;

}
}
}
/ /5
else{
if(piece.getPosition()!=-1){//#N
if(piece.getName().equals("Qe")){
point -=9;
}else if(piece.getName().equals("Ro")){
point -= 5;
}else if(piece.getName().equals("Bi")){
point -= 3;
}else if(piece.getName().equals("Kn")){
point -= 3;
}else if(piece.getName().equals("Pa")){
point -= 1;
}
}
/1D 2 7 SBA (Bs HEE )
if(piece.getName().equals("Ki")&&piece.getPosition()==-1){
point +=1000;
}
}

}

point*=10;

point+=(new Random().nextInt(10));
return point;

}

public int[] serect(){
System.out.println();
int[][] canMove= canMove();
int Max=-10000;
int point;
int[] select={-1,-1};//{listO (7 H OB, BB ENLT}
Phase nextPhase;



int index=-1;
for(int[] move:canMove){

nextPhase.

nextPhase.

nextPhase.

nextPhase.

nextPhase.

nextPhase

nextPhase

nextPhase.

nextPhase

index++;
for(int next:move){
if(next!=-1){
nextPhase=phase.clone();
if(next>100){
switch(next%100){
case 1:

getlList().get(index).setName("Kn");

getlList().get(index).setPosition(next/100);
break;
case 2:

getList().get(index).setName("Bi");

getlList().get(index).setPosition(next/100);
break;
case 3:

getlList().get(index).setName("Qe");

.getlList().get(index).setPosition(next/100);
break;
case 4:

.getList().get(index).setName("Ro");

getList().get(index).setPosition(next/100);
break;

}
}else{

.getlList().get(index).setPosition(next);
}

point = checkPoint(nextPhase);

System.out.println("index:"+1list.get(index).name()+",next:"+next+",point

}

if(point>Max){
Max=point;
select[@]=index;
select[1]=next;

}

System.out_pr\intln("*****************")5

:"+point)

System.out.println("index:"+phase.getList().get(select[0@]).name()+",next"+select[

11);

return select;



package MiniChess;
import java.util.*;

public class Computer {

Phase phase;

boolean side;

ArraylList<Piece> list;

final int[]
map={®,1,2,3,4,10,11,12,13,14,20,21,22,23,24,30,31,32,33,34,40,41,42,43,44,50,51,52,53,
54}%;

public Computer (Phase phase,boolean side){
this.phase = phase;
this.list = phase.getlList();
this.side = side;

}

private int[][] canMove(){
int[][] canMove;
canMove=new int[list.size()][30];
//91H4k
for(int[] can:canMove){
Arrays.fill(can, -1);
}

Piece piece=null;
int ii;
for(int index=0;index<list.size();index++){
ii=0;
piece = list.get(index);
if(piece.getSide()==side){
for(int next:map){
if(piece.canMove(next, 1list)){

if(piece.getName().equals("Pa")&&side&&next>=50){
//Kn
canMove[index][ii]=next*100+1;
ii++;
//B1i
canMove[index][ii]=next*100+2;
ii++;
//Qe
canMove[index][ii]=next*100+3;
ii++;
//Ro
canMove[index][ii]=next*100+4;
ii++;
}else

if(piece.getName().equals("Pa")&&!side&&next<=4){
//Kn
canMove[index][ii]=next*100+1;
ii++;
//Bi
canMove[index][ii]=next*100+2;
ii++;
//Qe
canMove[index][ii]=next*100+3;
ii++;



//Ro
canMove[index][ii]=next*100+4;

ii++;
}else{
canMove[index][ii]=next;
ii++;
}
}
¥
}
}
return canMove;
}
/**

* ROBEAZHIBTEH 2, ZOBEORFHREAFHR L, KT
* ROMH@param nextPhase
* mift@return point
* Qe9 Ro5 Bi3 Kn3 Pal
*/
private int checkPoint(Phase nextPhase){
int point=0;
for(Piece piece:nextPhase.getlList()){
//B%5
if(piece.getSide()==side){
if(piece.getPosition()!=-1){//#MN
if(piece.getName().equals("Qe")){
point +=9;
}else if(piece.getName().equals("Ro")){
point += 5;
}else if(piece.getName().equals("Bi")){
point += 3;
}else if(piece.getName().equals("Kn")){
point += 3;
}else if(piece.getName().equals("Pa")){
point += 1;

}
}
}
/ /1R
else{
if(piece.getPosition()!=-1){//#MN
if(piece.getName().equals("Qe")){
point -=9;
}else if(piece.getName().equals("Ro")){
point -= 5;
}else if(piece.getName().equals("Bi")){
point -= 3;
}else if(piece.getName().equals("Kn")){
point -= 3;
}else if(piece.getName().equals("Pa")){
point -= 1;
}
}
[T D % 2 7 DS (s BHERE)
if(piece.getName().equals("Ki")&&piece.getPosition()==-1){
point +=1000;
}
}

}
point*=10;



public

point+=(new Random().nextInt(10));
return point;

int[] serect(){
System.out.println();
int[][] canMove= canMove();
int Max=-10000;
int point;
int[] select={-1,-1};//{listD{i[& H OB, B DB Eh T}
Phase nextPhase;
int index=-1;
for(int[] move:canMove){
index++;
for(int next:move){
if(next!=-1){
nextPhase=phase.clone();
if(next>100){
switch(next%100){
case 1:

nextPhase.getlList().get(index).setName("Kn");

nextPhase.getlList().get(index).setPosition(next/100);

break;
case 2:

nextPhase.getlList().get(index).setName("Bi");

nextPhase.getlList().get(index).setPosition(next/100);

break;
case 3:

nextPhase.getlList().get(index).setName("Qe");

nextPhase.getlList().get(index).setPosition(next/100);

break;
case 4:

nextPhase.getlList().get(index).setName("Ro");

nextPhase.getlList().get(index).setPosition(next/100);

break;

}
}else{

nextPhase.getlList().get(index).setPosition(next);

}

point = checkPoint(nextPhase);

System.out.println("index:"+1list.get(index).name()+",next:"+next+",point

if(point>Max){
Max=point;
select[@]=index;
select[1]=next;

}
}

System.out.pr\intln("*****************");

:"+point)



System.out.println("index:"+phase.getList().get(select[0]).name()+",next"+select[
1D);

return select;

package MiniChess;
import java.util.*;

public class King extends Piece{
public King(int position,boolean side) {
super(position,side);
this.side=side;
pieceName="Ki";

}

/**
* 8<R-T,E,PFf}FX“®, ~, 6CCFALIFLTWVET)
*/
@Override
public boolean canMove(int next,ArrayList<Piece> list) {
boolean result = false;
int dist = next - position;
if(next==position){
return false;

}
if(side){
if( dist == -1 ) { /* 9 */CCHEITLTED)
result = true;
}

else if( dist == 1) { /* &E */
result = true;

}
else if( dist == 9 ) { /* ~9°0 */
result = true;

}
else if( dist == 10 ) { /* ‘0 */
result = true;

else if( dist == 11 ) { /* &E‘O */
result = true;

}

else if( dist == -11 ) { /* ~9&a */
result = true;

}

else if( dist == -10 ) { /* @ */
result = true;

}

else if( dist == -9 ) { /* &EES */
result = true;

}

}else{
if( dist ==1 ) { /* ~9 */



result = true;

}

else if( dist == -1 ) { /* &E */
result = true;

}

else if( dist == -9 ) { /* ~9°0 */
result = true;

}

else if( dist == -10 ) { /* ‘0 */
result = true;

}

else if( dist == -11 ) { /* GEO */
result = true;

}

else if( dist == 11 ) { /* ~9E */
result = true;

else if( dist == 10 ) { /* @ */
result = true;

else if( dist == 9 ) { /* &EG3 */
result = true;

}

//-U“I°n,EZ0<i,2, ,é,Ies%A
for(Piece p:list){
if(p.getPosition()==next&&p.getSide()==side){
result = false;
}
}

return (result);

}

/**
* FLEFFXFSFFO,A,«,6,0,C,1,005LIFLTOET)
*
*/
public boolean isCasling(ArraylList<Piece> list){
boolean check=false;
Rook rook=null;
for(Piece p:list){
if(p.name().charAt(0)=="R'&&side==p.getSide()){
rook=(Rook) p;
}
}
int i=1;
if(!side){
i=-1;
}

if(touch&&rook.istouch()&&rook.canMove(position+i, list)){
check=true;

}

return check;

}

public void casling(List<Piece> list){
Rook rook=null;
for(Piece p:list){
if(p.name().charAt(0)=="R'& side==p.getSide()){
rook=(Rook) p;



}

if(side){
setPosition(03);
rook.setPosition(02);
}else{
setPosition(51);
rook.setPosition(52);

package MiniChess;
import java.util.*;

public class Knight extends Piece{
public Knight(int position,boolean side) {
super(position,side);
this.side=side;
pieceName="Kn";

}

@Override
/**
* 8e(Cl,EEj”n,I,a,n,E“®,
*/
public boolean canMove(int next,ArraylList<Piece> list) {
boolean result = false;
int dist = next - position;

if(dist==19){
result = true;
}else if(dist ==21){
result = true;
}else if(dist ==8){
result = true;
}else if(dist ==-12){
result = true;
}else if(dist ==12){
result = true;
}else if(dist ==-8){
result = true;
}else if(dist ==-21){
result = true;
}else if(dist ==-19){
result = true;

}

for(Piece p:list){
if(p.getSide()==side&&p.getPosition()==next){
result=false;
}



return (result);

package MiniChess;
import java.util.*;

public class Pawn extends Piece{
Scanner kbs=new Scanner(System.in);
final int firstPosition;
int
mode;//S &,I A I°1,E“ ’.,u,%, A&, « AfifCfg(1l) AfrfVFifbfv(2) AFNFC [£°(3) Af< [fN(4),A,E
,€
public Pawn(int position,boolean side) {
super(position,side);
this.side=side;
pieceName="Pa";
this.firstPosition = position;

mode=0;
}
@Override
/**
* 0e0,PF}FX,E i,R,é(0e0,Pf}fX,Eci,2, ,é,£?,7 E,¢)
* cefa
* &SUTE’u,If| [F°,1°000,Qf}fX,I"E’u,E i,b
* I,R°000,Pf}fX,E“Gei,2, ,é & t,I,Y I,R°000,PF}fX,E“®,« A“G<i,d,k,8,6

*/
public boolean canMove(int next,ArrayList<Piece> list) {
boolean result = false;
int dist = next - position;
if(next==position){
return false;
}

if(mode==0)
if(side){
if(dist==10){
result = true;
for(Piece p:list){
if(next==p.getPosition()){
result=false;
}
}
}else if(position==firstPosition&&dist==20){
result=true;
for(Piece p:list){
if(next==p.getPosition()){
result=false;
}else if(position+1@==p.getPosition()){
result=false;

}

}
}else{
if(dist==-10){
result = true;
for(Piece p:list){
if(next==p.getPosition()){
result=false;



}
}
}else if(position==firstPosition&&dist==-20){
result=true;
for(Piece p:list){
if(next==p.getPosition()){
result=false;
}else if(position-10==p.getPosition()){
result=false;

}

}

// I,B°0e0,E“Gei,2, ,&,I%A
for(Piece p:list){
if(side){

if((next==position+9||next==position+11)8&8&next==p.getPosition()&&side!=p.getSide(
A

result=true;

}
}else{

if((next==position-9||next==position-
11)&8&next==p.getPosition()&&side!=p.getSide()){
result=true;
}

}

else if(mode==1){
result = (new Knight(position,side)).canMove(next, list);

else if(mode==2){
result = (new Bishop(position,side)).canMove(next, list);

else if(mode==3){
result = (new Qeen(position,side)).canMove(next, list);

else if(mode==4){
result = (new Rook(position,side)).canMove(next, list);

return (result);

}

public void setPosition(int position,ArrayList<Piece>list){
if(side){
if(position>=50)
// Si a,I“U-1

System.out.print("Pawn ,Si:(1)Knight, (2)Bishop, (3)Qeen, (4)Rook:");
int k;
while( (k=kbs.nextInt())>4]||k<=0){

System.out.print("Pawn ,Si:(1)Knight, (2)Bishop, (3)Qeen, (4)Rook:");

mode=k;

switch(k){

case 1://Knight
pieceName="Kn";



break;

case 2://Bishop
pieceName="Bi";
break;

case 3://Qeen
pieceName="Qe";
break;

case 4://Rook
pieceName="Ro";
break;

}
}else{
if(position<=4){
// .51 e, I“U-1

System.out.print("Promotion: (1)Knight, (2)Bishop, (3)Qeen, (4)Rook:");
int k;
while((k=kbs.nextInt())>4||k<=0){

System.out.print("Promotion:(1)Knight, (2)Bishop, (3)Qeen, (4)Rook:");

}

mode=Kk;

switch(k){

case 1://Knight
pieceName="Kn";
break;

case 2://Bishop
pieceName="Bi";
break;

case 3://Qeen
pieceName="Qe";
break;

case 4://Rook
pieceName="Ro";
break;

}
}

this.position=position;

for(Piece p:list){
if(p.getPosition()==position&&p.getSide()!=this.side){
p.setPosition(-1);
}

package MiniChess;
import java.util.*;

public class Phase {
private King kingl;
private King king2;
private Qeen geenil;
private Qeen geen2;
private Bishop bishopil;
private Bishop bishop2;
private Knight knight1;



private Knight knight2;
private Rook rookl;
private Rook rook2;
private Pawn pawnl@;
private Pawn pawnll;
private Pawn pawnl2;
private Pawn pawnl3;
private Pawn pawnl4;
private Pawn pawn20;
private Pawn pawn2l;
private Pawn pawn22;
private Pawn pawn23;
private Pawn pawn24;

private ArraylList<Piece> list;
private Scanner kbs;

private boolean side;

Computer com;

private int pieceNum=0;

public Phase(King kingl,Qeen geenl,Bishop bishopl,Knight knightl,Rook rookl,Pawn
pawnl@,Pawn pawnll,Pawn pawnl2,Pawn pawnl3,Pawn pawnl4,
King king2,Qeen geen2,Bishop bishop2,Knight knight2,Rook rook2,Pawn
pawn20,Pawn pawn2l,Pawn pawn22,Pawn pawn23,Pawn pawn24,boolean turn){

this.kingl=kingl;

this.king2=king2;

this.geenl=qgeenl;

this.geen2=qgeen2;

this.bishopl=bishopil;

this.bishop2=bishop2;

this.knightl=knight1;

this.knight2=knight2;

this.rookl=rookil;

this.rook2=rook2;

this.pawnl0=pawnlo;

this.pawnll=pawnll;

this.pawnl2=pawnl2;

this.pawnl3=pawnl3;

this.pawnl4=pawni4;

this.pawn20=pawn20;

this.pawn2l=pawn21;

this.pawn22=pawn22;

this.pawn23=pawn23;

this.pawn24=pawn24;

list= new ArraylList<Piece>();
list.add(kingl);
list.add(king2);
list.add(qeenl);
list.add(qeen2);
list.add(knightl);
list.add(knight2);
list.add(rookl);
list.add(rook2);
list.add(bishopl);
list.add(bishop2);
list.add(pawnl@);
list.add(pawnll);
list.add(pawnl2);
list.add(pawn13);



list.add(pawnl4);
list.add(pawn20);
list.add(pawn2l);
list.add(pawn22);
list.add(pawn23);
list.add(pawn24);
side = true;

}

public King getKingl() {
return kingl;

}

public King getKing2() {
return king2;

}

public Qeen getQeenl() {
return geenl;

}

public Qeen getQeen2() {
return geen2;

}

public Bishop getBishopl() {
return bishopl;

}

public Bishop getBishop2() {
return bishop2;

}

public Knight getKnight1() {
return knightil;

}

public Knight getKnight2() {
return knight2;

}

public Rook getRookl() {
return rookl;

}

public Rook getRook2() {
return rook2;

}

public Pawn getPawnl0() {
return pawnlo;

}

public Pawn getPawnll() {
return pawnll;

}

public Pawn getPawn12() {
return pawnl2;

}

public Pawn getPawnl13() {



return pawnl3;

}

public Pawn getPawnl4() {
return pawnl4;

}

public Pawn getPawn20() {
return pawn20;

}

public Pawn getPawn21() {
return pawn2l;

}

public Pawn getPawn22() {
return pawn22;

}

public Pawn getPawn23() {
return pawn23;

}

public Pawn getPawn24() {
return pawn24;

}

public int getPieceNum() {
return pieceNum;

}

public ArraylList<Piece> getList(){
return list;

}

/**
* R— FOFRR
*/
public void showPhase(){
String[][] board = new String[6][5];
for(int y=0;y<board.length;y++){
for(int x=0;x<board[y].length;x++){

board[y][x]=" "+y+x+" ;
}
}
for(Piece p:list){

if(p.getPosition()!=-1){
if(p.side){

board[p.getPosition()/10][p.getPosition()%10]="+p.name()+"{";
}else{

board[p.getPosition()/10][p.getPosition()%10]="®¥+p.name()+"®";

}
}
for(int y=board.length-1;y>=0;y--){
for(int x=0;x<board[y].length;x++){
System.out.print(board[y][x]);
}

System.out.println();



}

/**
* B E)
*/
public void move(){
boolean isCasle = false;
if(side){
if(side){
System.out.println("SCFEOFE");
isCasle = kingl.isCasling(list);
}else{
System.out.println("# O TE");
isCasle = king2.isCasling(list);

}
if(isCasle){
System.out.print("s ¥ AU 7 LETHN2y/n + ");
if(kbs.next().charAt(0)=="n"){
isCasle=false;
}
}
if(isCasle){
if(side){
kingl.casling(list);
}else{
king2.casling(list);
}
}else{

/1B 2 BN
Piece targetPiece=null;
kbs = new Scanner(System.1in);
int targetNum;
boolean check;
do{
check=true;
do{
System.out.print("BEhd 5E):");
targetNum=kbs.nextInt();
for(Piece p:list){

if(p.getPosition()==targetNum&&side==p.getSide()){
targetPiece=p;
}

}
}while(targetPiece==null);
VB < NIOY VY 2 NGy Tp/R
for(int y=0;y<6;y++){

for(int x=0;x<5;x++){

if(targetPiece.canMove(y*10+x, list)){
check=false;
}
}
}
}while(check);

[/ BET D~ ADER
int next;



do{
System.out.print ("~ ADIEIR: "+targetPiece.name()+">");
next=kbs.nextInt();

while(!targetPiece.canMove(next, list));

/1B DRH)
[IBIRAR—r DL X

if(targetPiece.name().equals("Pa"+targetPiece.getPosition())){
((Pawn)targetPiece).setPosition(next,list);

else{
for(Piece p:list){
if(p.getPosition()==next){
p.setPosition(-1);
}
}
targetPiece.setPosition(next);
}

}
}else{

com = new Computer(this,side);
int[] next = com.serect();
for(Piece p:list){
if(p.getPosition()==next[1]){
p.setPosition(-1);

}
}
list.get(next[@]).setPosition(next[1]);
}
/15— AR
if(side){
side=false;
}else{
side=true;
}
}
/**

* JSHCH] T
* check=0 RHEE
* check=1 cFHH
* check=-1 % TFkH
* check
*/
public int checkWinLose(){
int check=0;
if(kingl.getPosition()==-1){
check=-1;
}else if(king2.getPosition()==-1){
check=1;
¥

return check;

}

public Phase clone(){

Phase phase = new Phase(new King(kingl.getPosition(),true),new
Qeen(qgeenl.getPosition(),true),new Bishop(bishopl.getPosition(),true),new
Knight(knightl.getPosition(),true),new Rook(rookl.getPosition(),true),new
Pawn(pawnl@.getPosition(),true),new Pawn(pawnll.getPosition(),true),new



Pawn(pawnl2.getPosition(),true),new Pawn(pawnl3.getPosition(),true),new
Pawn(pawnl4.getPosition(),true),

new King(king2.getPosition(),false),new
Qeen(qgeen2.getPosition(),false),new Bishop(bishop2.getPosition(),false),new
Knight(knight2.getPosition(),false),new Rook(rook2.getPosition(),false),new
Pawn(pawn20@.getPosition(),false),new Pawn(pawn2l.getPosition(),false),new
Pawn(pawn22.getPosition(),false),new Pawn(pawn23.getPosition(),false),new
Pawn(pawn24.getPosition(),false),side);

return phase;

package MiniChess;
import java.util.*;

public class Qeen extends Piece{

public Qeen(int position,boolean side) {
super(position,side);
this.side=side;
pieceName="Qe";

}

VAL
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*/

@Override

public boolean canMove(int next,ArrayList<Piece> list) {

boolean result = false;
int dist = next - position;

if(next==position){
return false;

}
if( dist == -1||dist == -2||dist == -3||dist == -4 ) { /* /& */
result = true;
for(int i=position-1;i>next;i--){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
¥
}
}
}

else if( dist == 1||dist == 2||dist == 3||dist == 4 ) { /* /7 */
result = true;
for(int i=position+1;i<next;i++){
for(Piece p:list){
if(i==p.getPosition()){
result=false;

}



}

else if( (dist)%1e == @ ) { /* fit */
result = true;

//E
if(position<next){
for(int i=position+10;i<next;i+=10){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
}
}
}
A
}else{
for(int i=position-10;i>next;i-=10){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
}
}
}
}

¥
else if( (dist%9) == 0 ) { /* /fbE—FAT */
result = true;
if((position==0&&next==54)| | (position==54&&next==0)){
result=false;

}
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if(position<next){
for(int i=position+9;i<next;i+=9){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
}
}
}
}
/14 T I51A)
else{
for(int i=position-9;i>next;i-=9){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
break;
}
if(!lresult){
break;
¥
¥
}
}

}

else if( (dist%11) == 0 ) { /* £ L—/F */
result = true;
YYEERAL
if(position<next){
for(int i=position+11;i<next;i+=11){



for(Piece p:list){
if(i==p.getPosition()){
result=false;

}
}
}
}else
/1T
{
for(int i=position-11;i>next;i-=11){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
}
}
}
}

}
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for(Piece p:list){
if(side==p.getSide()&8&next==p.getPosition()){
result=false;

}

if(next==-1){
result=false;

}

return (result);

package MiniChess;
import java.util.*;

public class Rook extends Piece{
public Rook(int position,boolean side) {
super(position,side);
this.side=side;
pieceName="Ro";

}

@Override

/**

* g/ol A CJE”CAO,if}fX,%,_“®,_,é
*/

public boolean canMove(int next,ArrayList<Piece> list) {
boolean result = false;
int dist = next - position;
if(next==position){
return false;

}
if( dist == -1||dist == -2||dist == -3||dist == -4 ) { /* 9 */
result = true;
for(int i=position-1;i>next;i--){
for(Piece p:list){



if(i==p.getPosition()){
result=false;

}

}
}
else if( dist == 1||dist == 2||dist == 3||dist == 4 ) { /* &%E */

result = true;

for(int i=position+1;i<next;i++){

for(Piece p:list){
if(i==p.getPosition()){
result=false;

}

}

}

else if( (dist)%1e == 0 ) { /* «c */
result = true;

// a
if(position<next){
for(int i=position+10;i<next;i+=10){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
}
}
}
/ /%2
}else{
for(int i=position-10;i>next;i-=10){
for(Piece p:list){
if(i==p.getPosition()){
result=false;
}
¥
}
}

}

for(Piece p:list){
if(side==p.getSide()&&next==p.getPosition()){
result=false;
}
}

return (result);

package MiniChess;
import java.util.*;

public abstract class Piece {
protected int position;
protected String pieceName;
protected boolean touch;
/*
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protected boolean side;

public Piece(int position ,boolean side){
this.position = position;
touch=true;

}

public abstract boolean canMove(int next,ArraylList<Piece> list);

public int getPosition(){
return position;

}

public void setPosition(int position){
touch=Ffalse;
this.position=position;

}

public void setName(String name){
this.pieceName = name;

}

public boolean getSide(){
return side;

}
public String name(){
if(position<10){
return pieceName+"0"+position;
}else

return pieceName+position;

}

public String getName(){
return pieceName;

}

public boolean istouch(){
return touch;

}



